Piecewise Functions
- Substituting 


Name____________________________

Notes

Linear Unit






Hour__________ Date______________
Senior Math
Example:
Solve the piecewise function for each value given.


[image: image1.wmf]î

í

ì

³

+

-

<

-

=

1

,

3

2

1

,

5

3

)

(

x

x

x

x

x

f


1. f(-4)

2. f(3)

3. f(1)

Based on the x-value for the input, you are forced to choose the appropriate function.  The number lines might be useful when deciding which piece of the function you should use.  

When x-values are less than 1 (x < 1), the function 3x – 5 is used.  The number line below is the visual representation:
When the x-values are greater than or equal to 1(x > 1), the function -2x + 3 is used.  The number line below is the visual representation:

1.
Find f(-4):
Since -4 < 1, the function 3x – 5 will be used.

f(x) = 3x – 5 

f(-4) = 3(-4) – 5 

f(-4) = -12 – 5 

f(-4) = -17  or (-4, -17)

2.
Find f(3):
Since 3 > 1, the function -2x + 3 will be used.


f(x) = -2x + 3


f(3) = -2(3) + 3


f(3) = -6 + 3


f(3) = -3  or (3, -3)

3.
Find f(1):

Since 1 > 1, the function -2x + 3 will be used.


f(x) = -2x + 3


f(1) = -2(1) + 3


f(1) = -2 + 3


f(1) = 1  or (1, 1)

In-Class Practice:
4. 
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a. f(-5)
b. f(0)
c. f(-2)
5. 
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a. f(4)
b. f(25)

c. f(-3)

d. f(7.5)
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